P-PACK(E—+/\v%)

HE RIVIY—-X P
A
2% A Z () R S BEHHE
AL $4x16 118 TA-416SP ¥ 1,800
27V LRE ¢ 4x20 105 TA-420SP ¥ 1,800
o $4x25 90 TA-425SP ¥ 1,800
o FYRE GBmm $4x30 77 TA-430SP ¥ 1,800
$4x35 65 TA-435SP ¥ 1,800
$4x40 58 TA-440SP ¥ 1,800
AGZHYEV T (RTVLR) ¢ 4x45 51 TA-445SP ¥ 1,800
6 4x50 45 TA-450SP ¥ 1,800
$4x55 32 TA-455SP ¥ 1,800
6 4x60 30 TA-460SP ¥ 1,760
$4x65 27 TA-465SP ¥ 1,800
$4x70 23 TA-470SP ¥ 1,800
6 4x75 20 TA-475SP ¥ 1,800
£ B4R (m) A i e
0 X UTEE p8mm Max16 300 SV-416P ¥ 1,500
M4x20 240 SV-420P ¥ 1,500
Max25 200 SV-425p ¥ 1,500
M4x30 150 SV-430P ¥ 1,500
M4x35 120 SV-435P ¥ 1,500
Max40 100 SV-440P ¥ 1,500
ISOH SRS Max45 90 SV-445P ¥ 1,500
M4x50 90 SV-450P ¥ 1,500
Max55 70 SV-455p ¥ 1,500
M4x60 70 SV-460P ¥ 1,500
Max65 60 SV-465P ¥ 1,500
M4x70 60 SV-470P ¥ 1,500
Max75 51 SV-475P ¥ 1,500
A A X () R B = BRI
25 LA Max16 80 SV-416SP ¥ 1,800
© XUTEE: p8mm Max25 50 SV-425SP ¥ 1,800
Max35 30 SV-435SP ¥ 1,800
L M4x50 30 SV-450SP ¥ 1,800
ISOYZh* (RFYLR) Max55 20 SV-455SP ¥ 1,800
Max65 10 SV-465SP ¥ 1,800
M4x70 10 SV-470SP ¥ 1,800
Max75 10 SV-475SP ¥ 1,800
£ T1Z A S BERSE
M4 350 NT-M4P ¥ 600
M5 260 NT-M5P ¥ 600
M6 200 NT-M6P ¥ 600
AEFYE M8 100 NT-M8P ¥ 600
W3/8 60 NT-W9P ¥ 600
M10 50 NT-M10P ¥ 600
Wi/2 30 NT-W12P ¥ 600
A T4 () X i BERSE
M4 (d4.5xD10xt0.8) 900 RW-M4P ¥ 600
o M (d6.5xD13xt 1) 450 RW-M6P ¥ 600
FIvIv M8 (d8.5xD18xt1.6) 150 RW-M8P ¥ 600
W1/2 (d145xD32xt23) | 40 RW-W12P ¥ 600
5 25 A i BERSE
M4 900 SW-M4P ¥ 600
M5 650 SW-M5P ¥ 600
MG 450 SW-M6P ¥ 600
STy r— M8 210 SW-M8P ¥ 600
W3/8 110 SW-WOP ¥ 600
M10 130 SW-M10P ¥ 660
Wi/2 65 SW-W12P ¥ 600
£ T4 Z () X S BERSE
35 10 MD-3510P ¥ 4,400
IHZANSERKUIL 38 10 MD-3810P ¥ 5,100
XIVZARNTIERRYILDOFEMIZP266% ZSBLIEE N,
*ENOERIE EERD TRAERTUEY, EEECEAIS N, JEFCOM

U —HVN

(B

HOr>

HEEHEE | B7—CN\L

H7—

HRE
- HH

\NHHIR

TN
Bredgd

g > He

NEW
RFETE

469





